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B.Tech-3rd-EE, ME, PE, EEE,]M & M
Engg. Economics & Costing

A S

Full Marks : 70
sze 3 hours

Answc_r Q. No. 1 and any five from the rest

"The figures in the right-hand margin indicate marks

1 Answer all the following questions : 2 x 10
(a) What do you mean by cash ﬂow dlagram e

v :(b) Distinguish between prxmary benefits and
. secondary benefits. -

() Whatdoyounmnbyphymcaldeprecnaﬂon" - '
d) Whatdeyoummbymtemalrateoftetum‘?
(e) 'What is the s:tuatlon of breakeven pomt 2
) Explam cost contrel and cost reduct;on

(g) ‘What do you mean by present worth 7.
,, (h) , What is nominal mterest rate ?



() What s salvage value ? : e L , J 5. What is Cost-Benefit ~Analysis ? Explain the
) Whatf‘is"“taXaBléiﬁéﬁi‘n’é'?"’:’ . - ~ Qquantification and valuation of ‘cost-benefit
o ‘ o analysis .0 . B47
2. (a) Anamountwith compound interest becomes ‘ ~ ‘ - . ,
Rs.t;OOOCellt t?e U Zf ﬁrst)lr: c?ardand Rs, 1203 . 6. Explain the concept of cost control and give
at the end of second year. Find amount an o details about the techniques of cost control, 2 + 8
rate of interest. 5 , : o . e

(b) At what rate present will a sum become

. ! : : 7. A Brodﬁct passes through three distinct processes-
double of itself in 06 years at simple interest ? A .

/ 123 to corhpletion. During the week gndpd

3. Discuss different method of computing ; ' _ISth Of:tol?er 2,006_’- 500 unlt§‘§1re produced. The
depreciati on b ‘ . s ‘ v followmg mfonnatlon is obtam_ed.

4. Two assets are available to pei'f(")rr}h’a“ne(:‘essary , | 1Pr09§s§f 1|Process-2| Process-3|
function for 3 years. The initial cost for each L e 7 , “
device at time ‘0’ and subsequent annual saving, : qu Matenal; b 3,200 o
both in rupees are shown in the following table. [Direct Labour | 5000 | 4000 | s000
The required interest rate is 9 %. . b ' ' - L

| Year 00 | 01 “02 1 03 ; ;The overhead expenses for the period were

Asset X RS 9000|Rs. 45005 RS 4500'RS 4500 <% . Rs 2800 apportioned to the process on the
Asset | Rs. 14500]Rs. 6000|Rs. 6000[Rs. 8000] - - .7 Dbasisofwages.No wotk in progress is existed at
Compare these two a‘s'sei,s‘wiytyh respect tofbre'sént’ D L the beginning or at ‘ﬂ;le efld 0: wei:k. l>.r¢pare 10
s criteic . / ey . - ~ process cost accoqnts owmgt © unit price.
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